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" Answer all questions.
Each question carries 1 mark. . .

i A¥{i:xeN,3st50} isa—— set '
* (a) FiniteSet. ©© ' (b) Infinite Set.
(c) Nullset. R ~(d) Singleton sét._
|2 4]k,

"' 2. Value of the determinant of

@ 56 S 28
- © -s6. | @ -2
d 3. Tx—21- 3x+13 7+6x-19, Va]ueofxls .

@ W T iy g
@ 8 T T VD
o ;‘,4!‘_-‘4ax2+c 0 isa- ‘ !
| (a) SlmPle hnear equatxon i () ‘» Simﬁltanéous equatiohs. L ek

i ':f"(c) Quadratlc equatmns e ' (d) ‘leferentxal equatlon
5How many terms are there in 20 25 30 — i — 140?

(a) 22. SR -i(b)fz_g,‘;.._-
(c) 4 R R T "-(d)...z's;

5. ”Fmd the 15“' terms of the sequence 20 15, 107‘ A
S e
© e

Scanned by CamScanner



he mlddle value of an ordered array of numbers 1s the

" (é) Mean i e (b Medlan
"‘ © Mo de '1-' ; _ .' : ( d) Range |

B Prospenty, Recessmn and depressmn ina busmess is an example of s | Tl
l\ ]"f(a) Irregular trend o (b) . Seasonal trend.

(o). Cychcal trend PR | (d) Secular trend

:-':,V 9 A complete enumeratlon of all the items in the. populatmn is known as —

_ . ('al) ;_Census Enqulry 5 3 . (b) Samplmg study
‘.}f‘ ('c,)' Investlgatlon. iy AR () None of these. -
10 4 —————— is aone dirnensienal diagram. - o S
(a) Bar Diagram. . (b) Line Diagrams. =
. W(c)‘. Both (a) and (b). e g .,(d)‘ None Qf‘the above.

% & © (10 x 1 = 10 marks)

Part II (Short Answer Questions) o Ee e e
Answer any eight questions. |

Each question carries 2 marks.

1L, Whatis Vo diagram?
AR S 0 7 '
121f= -‘7‘ 2 3 Fmd 3A.
13 " Solve —6x + 8 0. L
14 What is geometnc progressmn‘? -

15 Represent A= {24, 6,8, 10, } in set bullder method

] For what value of K, w1ll K + 9 2k—-1 and 2k + 7 are the consecutlve terms of an AP ? S
17. Fmd the rate of mterest per annum if the s1mple 1nterest ona prmclpal of Rs 5 000 lS 800 for

8. *{»{'Calculate geometnc mean from the followmg ﬁgures
7. 5“587 75 53. 5 73 5 81 76
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5 l?Draw aPle d1a a i - el . e e
e "and Hunganangr: m _to represent dxs.trxbutlon. a certam btood group ‘O among Gyp51es Indxans '

"‘B_lood"Group Gypsies | ..‘Iridians‘. i Hungarian ' |
el r0 ) 360 R T I o L |

) ‘Whet’:do'j_rou mean by Index Number ? ‘ e
L n RSN ' 2 _ (8$<_2_.=16marks) '
Part III (Short Essays) G |

Answer any six questions. -
‘Each question carries 4 marks

Usmg the followmg sets, verlfy that A u(B uC)=(A uB)UC
--;A_,=A{_1, 2,3} ; B={2,46) ; C={3,4,5).

Al -5 29.. Solve the foilowing equation by using matrices :
iz'x-3y—3“‘ . :

4x =y -11

: 23 Prove that An (A uB) Au(AmB) by means of Venn dlagram

>‘2\4. In an arithmetic progression the sum of the first 10 terms is 400 and the sum of the next tenterms
= 1s 1000 Fmd the common difference and the first term.

", '2‘_5.; 'If the mean of the followmg dlstnbutlon is 9, find the value of p.

ozl e e p+7 | 10 | 15
[FT 35 [ 0] 10 |7 [ 8

2 (3 1 2
1 ; B=|4 2 3
3 ;4‘ -1 1

S o
o S |

"'Fmd the product of A and B _ : . .
y 4 ,".'Eﬁtplaln dlfferent types of dlagrams used for the presentatlon of data 2 i i
o0 7,:'.'.F1nd the compound 1nterest for Rs 7 000 for 4 years 1f mterest 1s payable half yearly at 6% p er';"j

(6 x A4f
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Part IV (Long Essays)

Answer any two questmns :
Each q‘uestlron carr_zes 15 marks.

T L

: A : ‘ = ‘ 2 ’_._,... =
Fmd the sum of each of the geometnc serles 2’8 ' " 37268 8

" 1y 30 An enqulry mto the budgets of nnddle class famlhes in Karmur city gave the followmg mformatlon

.‘Expenses on . | Food Rent : Clothing : ‘  »Fuel 1 Mlsc
‘Priée_“(20_0'6) 1 150 " R 30 . r ' 75 . "ok Sl 40 g -
Price(2008) | 145 | 30 - TgEE T 23 A e

.._'Foll'owixig weights were used Food 35, Rent 15 » Clothing 20, Fuel 10, and Misc. 20. L
 What changes in the cost of living of 2008 as compared w1th 2006 are seen" |
.81 .Fmd the standard dev1at10n and co-efficient from the following data :

Size Frequency

0-2 2

24

46
68
:8-10
- 10-12

I IEN S

" @ x 15 = 30 marks)
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